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Question 1
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r2—z+1, z<1

f(x) = 3z — 2, l<ax <2
22 4+ 2, T > 2

Select one:
a. 1

b. 1 qs?2
c.2

d.3

Question 2
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2 —dr+6, <3
T) = ' T
f() 2¢ — 1 T >3

Select one:
a. 3
b. 2
c.4
d.5

Question 3
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ar*+2x4+1. <1
flz) = |
x + 4, r>1

Select one:
a.5
b. 2
c. 4
d.3

Question 4
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Z
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Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%5Cbegin%7Bcases%7Dx%5E2-x%2B1%2C%20%26%20x%20%5Cle%201%20%5C%5C3x-2%2C%20%26%201%3C%20x%20%5Cle%202%20%5C%5C2x%2B2%2C%20%26%20x%3E2%20%5Cend%7Bcases%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%5Cbegin%7Bcases%7Dx%5E2-4x%2B6%2C%20%26%20x%20%5Cle%203%20%5C%5C2x-1%20%26%20x%3E3%20%5Cend%7Bcases%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D%5Cbegin%7Bcases%7Dax%5E2%2B2x%2B1%2C%20%26%20x%20%5Cle%201%20%5C%5Cx%2B4%2C%20%26%20x%3E1%20%5Cend%7Bcases%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clim%20%5Climits_%7Bx%5Cto%200%7D%20%5Cfrac%7Bsin4x%5E2%7D%7Bln%281%2Btgx%5E2%29%7D%20
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a. 3
b. 6
C. 5
d. 4

Question 5

030390 f(ﬁ) - -733 — ﬁ.’l‘?g

L9396 BY.
Select one:
a. 2
b.5
c. 3
d. 4

Question 6

+9r +3 86J300L MoEqlo 360836gmmds  [0;2]

030390 f (T) - 3:}:3 + !;I:;r;ﬂ —2Tr + 17 a3bJzool dobodwdo

Select one:
a. 4
b. 3
c.5
d.2

Question 7
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Select one:

a.5

b.3

c.2

d. 4

Question 8

o3mggor Y = z* 4 622 + 8
Select one:

a. 24

b. 11

c. 20

d. 29
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http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3Dx%5E3-6x%5E2%2B9x%2B3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%29%3D3x%5E3%2B9x%5E2-27x%2B17%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D%5Cfrac%7Bx%5E4%7D%7B12%7D-%5Cfrac%7Bx%5E3%7D%7B6%7D-x%5E2%2Bx-5
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3Dx%5E3%2B6x%5E2%2B8
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Question 9

. 9.2 y .
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Select one:
a. 4

b. 3

c.2

d.5
Question 10
osoger Jo(1: 0)s o F(@3y) = 22y + 2%y® + 32 — 29 4 5.
Select one:
a. 8

b. 7

c.9

d. 6

Question 1H1

T Fay (15 1]':mﬁf(:r:; y) =2° + 3z’ +zy® — 22+ 3y — 1.
Select one:

a. 8

b. 11

c.9

d. 10

Question 12

osogger f (85 Y) = % = 2% + 2y — 32 + 3y + 4 4511000 gghyHydao.
Select one:

a. 3

b. 4

c.5

d. 6

Question 13
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_ﬂ:(ﬁr:}:’i — 4z 4 3)dx
Select one:

a. 2
b. 9


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3Dx%5E3-3x%5E2%2B2x%2B1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M_0%20%281%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f_x%5E%7B%27%7D%20%281%3B0%29%2C
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f%28x%3By%29%3Dx%5E2%20y%5E3%2Bx%5E3%20y%5E2%2B3x%5E2-2y%2B5.
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f_%7Bxy%7D%5E%7B%27%27%7D%20%281%3B1%29%2C%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20f%28x%3By%29%3Dx%5E5%2B3xy%5E2%2Bxy%5E3-2x%2B3y-1.
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20f%28x%3By%29%3Dx%5E2-2y%5E2%2Bxy-3x%2B3y%2B4%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_%7B0%7D%5E%7B1%7D%285x%5E4-4x%2B3%29dx%20
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c. 8
d. 7

Question 14
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Select one:
a. 4
b.3
c.1
d. 6

Question 15

N
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Select one:
a. 7
b. 8
c.1
d. 6

Question 16
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Select one:

a. 8n

b. 2n

c. /n

d. 9n


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_%7B0%7D%5E%7B%5Csqrt%7B%5Cfrac%7B%5Cpi%7D%7B2%7D%7D%7D%282xsinx%5E2%20dx%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cint_%7B0%7D%5E%7B%5Cfrac%7B%5Cpi%7D%7B2%7D%7Dx%20sinxdx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%20OX%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=y%3D%5Csqrt%7B4x%7D%3B%20y%3D0%3B%20x%3D1

